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whtgnfirat & forg ame frda ;
" GENERAL INSTRUCTIONS TO THE EXAMINEES :
1, WRieme e 3O U U W A e o |
Candidate must write first his / her Roll No. on the question
paper compulsorily.
2. WY UV & A AW § |
All the questions are compulsory.
3. Wcdsh Y¥T T I &l T3 ITR-Yieaeht A & fod |

Write the answer to each question in the given answer-book
only.

4, WW%WWEW@%W@W@W

; For questions having more than one part, the answers to those
parts are to be written together in continuity.

5. W U % e 9 s waer o 6 v o Jfe / et/ TR
B W &) s & e by g@er T o
If there is any error / difference / contradiction in Hindi &

English versions of the question paper, the question of Hindi
version should be treated valid.

6. WRT P I forE ¥ g e 1 huiE o ford |
i\frite down the serial number of the question before attempting
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Weightage of marks for the quesuon is as follows

" -wa) | 1(i¥x),2t011 | L 20
'm'-a(n) . 12t019=8 .2 _16
GUE-W(C) | 20t023=4 4 16
WU -TM) | 24t025=2 5 10
TS -A® | 26t028=3 —6. 18

8. mmzoﬁzsﬁaﬁmﬁmfﬁmﬁﬁnﬁ% [

There are mternal ch01ces in Questmn Nos. 20 to 28.

g - A
_ . Section - A ﬁ
L. (i)_ 14 %7 It ah
= @ 144 _ o o (B) 169
© 196 - D) 225
The square of 14 will be |
@6 . o oas
e Wf'(x)=6x-2ﬁ£=2w#ma§¢:wmm
@ 8 | | - é
9 10 D) 11
BYputungx 2lnpolynom1al Fx) = 6x-2, the value of . |
A g | o Polynomiay winl be
B) 9
© 10
D) 11
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_(vi.
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(i) AR /R 2;;2' +x+ kﬁw‘ws%ﬁ‘r kwqﬁm

@ o1z By 2

€ 24 o N | D) -21

If 3 is a zero of polynomial 2x2 +x+ Kk, tﬁen value of kwﬂlbe
@ 12 | .‘ . | ®) 21

© 24 . | D) -21

2 sin 2 60° cos 60° T A UL

@3 i'(é)"g
© 3 o 1
The'vamé of 2 sin? 60° cos '60°w_i1ibe _ |
w 2 o ® 3
© 2 o 1

ﬁﬁwtﬁm%qﬁﬁ 1ooﬁ\aaﬁ§*@mﬁmwwaﬁwsm% at

@ 100J§tﬁz-( .(3) %gq"fz‘{
‘ : : 200
son:ﬁz; | (D}. 75-:&31_

If from g Point on the ground which is 100 m away fromi the foot of the tower,

the angle of elevation 6f the top of the tower is 60°, then the height of the tower

is
o : : o
(4) 1003 metre . (B) l‘% metre
€©) 503 metr D) 200 metr
€ o 3 e
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© 73 ' | 4 @’ﬁ
In the given figure, DE ||-BC, AD = 2cm,BD 3°mandAE._ |
 measure of ECwill be - 4 cm, then ‘.\
A S5em
€ 7cm
S-09-Maths

(vi)jﬁﬁf%ﬁéﬂiﬂ?%
oW (1, 1 : (_B)'{o,fo_)"
© (0 1) | o (1,0)
The co;J%dinates of origin érg | |
A (1, 1) C c (Bll’ (0, 0)- B
© 1o 1) | - (D)“(l 0)

(vii) St T el DE || BC®, AD= zﬂ’ff BD = 3WWAE 4@ﬁ°r§?r,a‘r.§c
1 T 8

- C

W s¥d . (B) 6@1#




- (vili) ﬁ\ﬁﬂi@hﬁiaﬁﬁwﬁmﬁqﬁaﬁm%
| A TH o | ®). R

A{C). ¥IH | o (D) &

- Number of.circles which pass through three collinear points is

(A}  one : S , - '(B), two
© zero - ' (D) infinite

(i) ﬁﬁwﬁﬁﬁ'liﬁmmam@uaaw-g'eéaﬁam,ﬁam
(A) Alqi-ﬁ - : | . (B) o
(©) 12#!{'1 . = o (D) 4%

If the height .of d cylinder is' :11 cm and its curved surface area is 968 cm?

then the rac_.lius of _cylfnde;‘ will be
&) 10em : | o B 1llem
(€}  12cm - | | . D }4 cm

) 5,7, 4,8 6 W AAE \
a) 4 S o '(BI'Sj
©) 6 - | D) 7
’l‘he_n{.ean -'of'dismﬁution 5,7, 4,8,6is
w4 - @s
© 6 I (D) 7
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_ 6.‘- _
qgﬁ@ﬂ'wmw % 1 T T FHeg |
Find the square of 96 by usiﬁg “Sutra Nikhilam”, |
19; HW“@%@’;ﬁmﬁﬁt{_l o
Fiﬁd the cube of 13 by using. ‘;‘éutra Nﬂchilam” :
TR 99T 3, 7, 11, 15 I. @ 11 a?qa’lﬂﬂﬂf\ﬁfm §

Fmd the 11th term of Anthmetlc Progressmn 3,7, 1 1, 15

@Wﬁwmww% rmﬁwsméﬁﬁﬁﬁwmmﬁmm

A die is thrown once. Find the probability that the number on the die wifj pe 5
: . e 5 0

less than 5. c

mw@wﬁszwﬁw@ﬁﬁm@wwm%' .
. | 39
W SIS g 3} st T IR |

A card is drawn at random from a well shuffled geg of 5 -
- 2 cards.
| N . Find th¢
Probability of jig being a king. | |

T B QW w1 e fafag |

Write the equation of ‘StoppingDistanée "
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10,

11,

12

13.

14.

Rs. 11, then find the total fa.rclfor 15 kilometrés._

ﬁ@mwm iﬁﬁrﬁmwaﬁﬁlﬁﬁﬁﬁ ]

ﬁﬁ@mwﬁﬂwmﬁﬁﬁa%mzoﬁoﬁﬂr%aﬁuﬁfﬁﬁ%%ﬁ
11 %o ¥ 7 15%&?1?1#%%!&%1#@%%!

If fare of a car for first kilometre _is Rs. 720 and after that It_)r every kilometre is h

et (g, 1) AR, _1-,%#@%@ ................... Bt |

The 'djstant::e between the p.oints {— 2, - 1) and ("" 1, 1 }“’111 be. serararistearares

mﬁwaﬁqﬁﬁﬁwm ettt BT |

‘The locus' of the centre of rolling circle in a plane will be .....
UF foas @ o S ISRl S § | H § FH T Fd R A wie o, B
A coin js tossed

twicé.-The probability of getting at leést one head will be ........,

g - q
Section - B

L3

Find the square of 24 by using ‘Nikhilam Base-Sub-base’ method.
el THIET 3x? - 443 x + 4 = 0 1 fafawat T w1

Find the discriminaht of quadratic equation: :?{x2 ~4f3x+4=0.

%Q]Hﬂtﬂw 2x2 +x -1 = o%&ﬁ’iﬁﬁﬁfﬁﬁw '

. . 2
Find the nature of roots of quadratic equation 2x° +x -1 = g,
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15. tan? 60° + 3 cos? 30° & T |G HIAT |
Find the value of tan? 60° + 3 cos? 30°.

16, T THAE A W 15 He o o A G F =E 1A € T 3w o o o
T HER H BRI Y o 5 Wy § A AR Y S T P |

The shadow of a 1'5 m tall student standing on a plane ground is found to be | oy

long and at the same time shadow of a tower on ground is 5 m IOng then find th |
3 e

f

height of the tower. E I
17. ¥l 3T 1 AD U% &9 & 3R ABTH SAiel & IH&AD=34@'I:[”T,AB=3(J%% E
I % H% ¥ ABH T 1 HIT |

AD is a diameter of any circle and AB is chord. If AD = 34 cm, AB = 3 _
' Cm, then find

the distance of AB from the centre of the circle.

18. 6-7%6{%%%@%@@3@?@%2:31?3“%%[%%
| | |

Draw a line segment-of length 6'7 cm and divide it into 2 - 3i f
' ntemauy‘ ﬁ’

19. UF HH 9 4 HieX S @H & Y W o o o dto

\'Igﬂm
s et 50 o Y % o A e W E | R A

|

:]- g _
iy g 70

PSS SIS 419 7 401 T HIOY | (= 3114

A CCTV camera has been installed on the top of 5 st
Taight
Pole of

' X ; t
such that forward traffic can be seen from the T Metre heigh
9 Sight 0

f5 Metre

of circular path formed by unseen patch aroung ¢, ' Fing the arsﬂ
€ Pole

? ( n= 3.14
5-09-Math® )
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gug -
Section - C

20. Tog =ifve & fog (2, —2), (-2, 1.')?{%(_5, 2 ) T FHHT S & oY & |
mﬁﬁq%aﬁaﬁﬂﬁﬁﬁéw-ﬁamﬁwwwﬁﬁwmm%
Prove that the points [' 2, —2), (-2, 1)and (5, 2) are vertices of a right angled
triangle,

OR
Prove that if two corresponding sides in two triangles are proportional and the
angles between them are also equal, the two triangles are sirﬁilar.

21. AR forgeit A (s, k) R B (k 5) W g P(0, 2) I gREAl T AT ke H A T
HifsT |

HAAT
firg oy = 31 T B, T w8 E
If points A (3, k) and B( k, 5 ) are equidistant from a point P (0, 2 ), then find the
value of k,
OR
Prove that two equiangular triangles are ‘similar.
S-09-Maths . | [ Turn over
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o @qwm%ﬁmﬁfﬂwssﬁm% |w%ama1ﬁaﬂt7iﬂaﬁmw‘rw
gaﬂ% lmﬁwﬁawmaﬁﬁrqn

. EI. o g
e et o b S T il 3 D
- S = - - .

i .' 'mﬁﬁq%ﬁﬂﬁﬂqﬁﬁa@%ﬁﬁmﬂﬁiﬁéqﬁﬁmﬁﬁ a‘rwfrﬁg
: | .'WWWWE{WW%I'

The radius of a c1rcu1a.r grassla.nd is 35 m. There is a footpath of width 7 m d.
aroun

outsude of it. Find the area of the footpath

OR

.- : R .

! one then the point of contact bisects the chord,

23 ﬁmgﬁq}mﬁwﬁ%mﬁﬁaﬁwmmﬁaﬁwﬁquﬁm
. Jrera |

& ¢ sl A, 9l 0a. oB=oC. OD% a?ﬁ?aﬂﬁf?ﬂqu £CT <B-
£D.

. ° ' ’ B
Find the area of the square inscribed in & circle of radiys 8 |

OR

CIn.

Inﬂ'l I . . .
© given figure, if OA . OB= 0C. OD, thep Prove that / 4 = )
/ | | 4 | c“Cand Lpasp

g
:
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qug -
Section - D

TF 29 ﬁﬁwﬁmﬁﬁww@ﬁ 01344@#?@3@?@@?
- qﬁg}wmﬁiﬁq aﬂra%nmaﬁfw% aﬁmaﬁﬁq 3

Construct a circle with th

of 44 cm fro

gofer T -
1 ?ﬁaﬁqﬁﬁf & | =r?
' 3
= ar
' 4 3 3
N c 5“("1 J{r,>r,)
3 I
4 WWWW D |2ar
| st o et o | 2un
- 2.,
, et b e o {2xr
. E[rﬂw g |3nr?
— )
N P haiis U b 1 |ser
= | - 2,5
1o | il T | 2 |57

e centfe O and radius 2'9 cm. Take a point P at a distance

m the centre and draw a pair of tangcnts to the circle from it. Also,

measure the tangents and verify that they are equal.

' OR
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Match the following -
1 _Circuplference of the circle | ) A -:: r?
2. Area of circle | B __g_“ra '
3 | Volume of cylinder c %n (n®-r3) (r,>r,)
4. Curved surface area of cylinder . D | 2ar . ' .
| 5\I Volume of sphere - E |nr?h 1__—___—_—_—
6_| Curved surface area of heﬁisphefe_ Flomn |
7_| Surface area of sphere | G |2 ;;_—__'_““-“ '
8 | Volume of hémisphere H | 3 m_z“‘“-————-_____
9_| Total surface area of solid hemisphere I |4xr
10 | Volume of spherical sheil ‘ g | -32_ nr3

25, mm’mwﬁ.m@qmmmﬁm: I —

.2x+3y=8

-x—2g)= -3
ﬁqwmwﬁmﬁ@aﬁﬁmwﬁm

2¥+y=_6f B

4x-2y= 4

Solve the followiﬁg pair of linear equgtions by graphica] Methoq -
2+ 3y =8
X= 2Q =-3 .

| OR

Sclve i;he foilo@g pan- of linear equations by Eraphica] me-thod .

2k+y = 6

4x-2y= 4
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- qug -7
. Section - E

26.- ﬂﬁwéﬁraﬁwﬁqﬁmwﬁwmé 19 7T 41§, @ 40 91 7% 71 i |

.
2 | 2600') 6[5111245" tan SO]ﬁﬁﬁﬂﬁﬁﬁt{i
2 (cos® 45° + tan” -
agar
ﬁmwmﬂﬂaﬁwmaﬁﬂm | = | |
o | so0-60 | 6070 7080 | 80-90 | 90-100
| . . ) 40'5 . . . I . .
R ( f?':b‘mﬁ). T - - -

wﬁﬁ@[: | '.I;Ol'

et
If 6th and 17th terms o &

find the 40th term-
. OR
ta.l'lg 60@)_6(511’12 45° -~ tan~ 30°)
, 5° + |
eof 2(¢C0
Find the valu oR
jstribution

70-80 | 80-90 | 90-100
10 | 15

Weight ( in kg )

- No. of students : qaa-'ﬂ?T
ﬁ?ﬁmﬂﬁéﬁﬁﬁﬁ:ﬁi
B2 eyl

. 2 sin o
Fﬂaaﬂﬁqfﬁcoﬁwﬁsi 49 1

[ Turn over

Download from www.MsEducationTv.com

s

ti Prﬁgressioxi are 19 and 41 respectively, then




AL T L an

14

m M | - 0-10 10-20 20-30 30-40 40-50
BTl W e 4 [ 28 a4z - 20 6
. . —1
If 3rd and 9th terms of an Arithmetic Progression are 4 and (. - 8) res]:';e.cti I -
| | vely,
which term of it will be zero ? ' _ e
ORr |
Prove that cos*6-sin%g = 11 sinZg.
r OR
{ Find the median of the following frequency distributior :
Marks obtained : 0-10 10-20 |
| No. of students ; 4 28

| 28. T WEA wARR AG H § 1 Ay g

! o - » SN e

.f' 1 PPy |
| ﬁmaﬂﬁq% T+sing  1-smng _2%¢ 0 \
'?.: | ) ) . o | ‘ .

ﬁwwﬁmwwﬁwﬁﬁmmﬁm%;
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Thr umbers arg in AﬁﬂlmeﬂC'Progfcssion. If their sum is { — 3 } and product is 8,
ee num _ ' d) .

then find the numbers. i - : : | - o - :

OR

| ! 1 ;zsecgﬁ'

| Prove that 1+sﬁ19+m . _:::
OR.

- : . - distribution by step deviation method : o
following frequency e | }

Find the mean of the _ . _.
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